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v’ LOSS .
A-401 L pqa 2011 kghr a2 )
dosmdunldas :0.12 mhr ‘ L 286 -
3 wadvauanwiau 11350 kcal/hr -....{:;'—. =ld
y thwiin 2.6 kg B~ 2 Tl
fiadia :1/8inc P s
Fuusu 4 (2x2)
A y | LOSS ;
A-402 i po 29:-11 kglhe
g dandunldas :0.12 me/hr
nadvouarmiau 11350 kecal/hr
dwmin :2.85 kg
dasa :1/8inc
Fuuunkuy 4 (2x2)
- LOSS ;
rLpa <011 kghr I SO
Fam&unldas :0.12 mv/hr e -15}}_‘_'_%‘#_?%
wdsnuarusau 11350 keal/hr 3:5?4:: =
uwmin 2.9 kg i ==aie e,
dacia :1/8inc v tﬁtﬂ‘-'l}: - ek
Innuukuy 4 (2x2) Gion
L/OLSEG :0.11 kg/hr Q*IGS—-Q- » s
dam&unldas :0.12 mvhr '*—_—'154—11{ vy
ndsouanuiau 11350 keal/hr RO wer
T i | & | P
uﬁuﬁn A .9.kg g8 o=l
facia :1/8inc 8 —
FnnuuKu 4 (2x2) Yo
L;OLSE G :0.17 kg/hr = ~3!9":’6;95.5>-:;
dandudas :0.18 mvhr st
rdvouarusau :2030 kecal/hr == m - ”
twiln 2.5 kg ==
daca :1/8inc S =
1 -
Fuuuky 6 (2x3) '-:lrl:—JA—T—
LOSS :
JLpG ‘017 kg/hr
domdunldas :0.18 m¥vhr
wadosuawiau : 2030 keal/hr
uwin :3.8 kg
dada :1/8inc or 3/8inc
Fuuusu 6 (2x3)
LOSS ) =
/'L P G :0.17 kg/hr PEZ;' ’3‘ .
damdunldas :0.18 mvhr i
ndvouanuiau 12030 keal/hr Pi—Ts R
i1 , ) e = ]
i 2.5 K9 dsd| (O
Jana :1/8inc 1 LJ;;z
Funsiu 6 (2x3) SArien s
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LOSS |

ILPG :0.22 kg/hr é
| damdunldas :0.24 mihr c
- | nd@uarussau :2030 keal/hr el
~ [dhwin :5.8 kg

i dasa :3/8inc

ERITR)ITTTNTS :819(2x4)

| LOSS . - 219 -

/ILPG :0.22 kg/hr ] T— I:l,—,_: = é—é
dardunldas :0.24 m/hr -:-Eszjﬂ_'i
nduanuiau ;2700 kcal/hr T =250 =

- [dwin 4.5 kg :I éé | j:jl_d:@
dasa :3/8inc Teihe — B
| dwnuusu :819(4x2) elora1204leoa

LOSS L

JILPG :0.28 kg/hr
dandunldas :0.30 myhr
n&wuarmiau ;3380 keal/hr

[dawin :6.85 kg
| daca :3/8inc
|3 nuusu :10(2x5)
| LOSS ;
/LpGg ‘034 kg/hr
| 3o &uw&as :0.37 mvhr o 824
| n&s9ruAnutau :4060 keal/hr B e 8"
| dwnin 7.6 kg "T:ﬁ—‘”' r
| Basa :3/8inc
FMNULHY :1217(2x6)

LOSS ;

ILPG :0.37 kg/hr
dan&unldas :0.4 mvhr r ‘m_m_‘:‘; sonins | I"“‘
ndwuanuiau :4680 kcal/hr &b T T 5=3
thwiin :8.2 kg — T ——t {J
daca :3/8inc —p— &
ERITR)ITIUARTY :137%(2x6.5)

| LOSS ;
| /LPG :0.39 kg/hr
| den&unldas :0.43 mvhr i r,so_,sol_gf;’o,,so_,so_’ 'l '|"°'
~ Im&wnuanuiau ;4720 kecal/hr — — =
thwiin :8.95 kg “ﬂ'w’%ﬁ e
| Basia :3/8inc S o i
- | unuusu :1419(2x7)
| LOSS 3

/Lpg -045kghr ’ 70 iy

danduwdas :0.49 mv/hr e G G ‘ I
. _ ——
[ m&uanusoau :5400 kcal/hr B H
~ [xhwin :8 kg \__jft/ e -@_
~ |daea :3/8inc = S £

| unuunu :1444(4x4)
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LOSS
/L pG -0.51kghr

' dendundas :0.54 mv/hr
ndsuanuiau 6090 kcal/hr

| dwin :9.1 kg
dasa :3/8inc
{3 wouuku 18 (4x4.5)
LOSS 3
/LpG ‘0-55kghr . o

| dandunldas :0.6 my/hr
n&yuanuiau (6750 kcal/hr

= 150 = 150 = 150-'-‘50- '[ ;'35"

wmin :11.15 kg I e =:
fiasia -3/8inc —St—a— @
ERMIRIITIEANTY 20 (4x5)

LOSS

/LpG -0.68kghr

dondunldas :0.74 mv/hr
| mduarsau :8120 keal/hr
umiln
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:11.7 kg e~ ,\- — _
dana :3/4inc \;‘ —'-:ij-j; _Eg_
FIMNULHU 24 (4x6) e ——tF =

LOSS
ILPG :0.74 kg/hr .

Jomd&unldav ;0.8 mvhr
n&nuanuiau 19360 kcal/hr

i

navuaNuiau 10800 kcal/hr

;-lsoTvboI |5o-|bo- 150T150-,- 150»

 |rdwin :1.3 kg e 455 oy
fiacia :3/8inc \—E?j—’é i
Iuuku 26 (4x6.5)
LOSS  .09kghr
- 1noco. - 5—|
don&uwl&av :0.98 mvhr K

S —— =
~ |hhwin 114.5 kg = _r'—'f/ﬂ ?
| 6o 3/8inc B
Fnuudu 32 (4x8)
LOSS
/LpG -0.22kg/hr

dondunldas :0.24 myhr
ndnuarmiau : 2030 kcal/hr

Umin :4.25 kg
ERITRIITTRTY 8 (4x2)
LOSS . - 3%
| S Trc :0.22kghr '[
Somduldas :0.24 my/hr

ndwuanuiau 12030 kcal/hr
thwin 4.5 kg

FMNUUNY 8 (4x2) (2
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LOSS . E
JLpG -0.22kg/hr

dandudav :0.24 mvhr
wdouarusau 1 2700 keal/hr
twnin :3.8kg

dada :3/8inc
FIUIUUNY . 8=4*2

A-801

LOSS
S LpG -0.55kghr . o~ 5 gy
[damdunldas 106 mvhr e g s
. ,"ﬁcnumm‘sau 16750 kcal/hr = :L P
umidn 8 kg C [ri: T
dasa :3/8inc ’
FuuuNU :1412(4x4)
L,OIS‘E G -0.25 kg/hr
dandunlday :0.27 mv/hr I 50 Y |
ndwarmiau: 3000 kcalhr |5 — _g; C__.!j:
wmin :6.4 kg R== @ ST
fiasia :3/8inc s ':f’ff-LlL 2
FIMUUHY 118 (4x4.5)




